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54 e 7 441 187.65  12251* 093  .00.0 w4 g 5] 265 22756  160.72*- 0.87* .00.0 st Ao ] 176 148.44 9011 105 .00.0
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2 [sgeren 2 64 2723 17.77% 074% 145 | 2 |seqesep 5 g 41 35.21 2477%-  070% 155 |2|epssg 23 19.40 1288 130 131
3|yt gqeomn | 46 1957 1303 088 104 |3|- s 28 24.04 1805 085 106 |3 [sfosen 2 23 19.40 1167 086 131
alxpss g 23 1940 1288 130 52 |4|eg . igqurs | 27 23.19 1704 093 102 |4|ww . zmqears | 19 1603 974 082 108
5| 29 12.34 870 078 66 |5|eww 17 14.60 1104 096 64 |5|i & 11 9.28 578 104 63
6 | s O® 12 10.30 674 108 27 |6|ews 13 11.16 796 102 49 |6 |wus 11 9.28 529 141 63
7 |esn 24 10.21 650 116 54 |7[sssicEion 12 10.30 674 108 45 |7 fg ;*"" el BT 8.43 496 124 57
8|t 21 8.94 560 102 48 |8[sim 1 9.45 660 121 42 |8l|reizimew 5 422 277 118 28
9 ;;}V S BT 8.43 4.96 124 23 |9l m 10 8.59 567 097 38 |9|uwm 5 422 2.54 197 28
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Wis - tisfmn | 2 46.19 32.30 121 239 |1fis - riugemn | 29 62.41 4789 123 244 |1|is - tisferm | 13 29.24 18.05 120 228
A 21 23.10 18.01 154 119 |2|-s 19 40.89 3363 150 160 |2|cpsim 7 15.74 1170 111 123
3lan  syqoerg | 21 23.10 14.72 112 119 |3|es - imqouern | 15 32.28 2458 145 126 |3 [sgesen i 6 13,50 882 064 105
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5lepsrsn 7 15.74 11.70 111 40 | 5| sspcErsm 7 15.06 109 190 59 [5[°% 3 6.75 524 104 53
6 | A1 G OB 7 15.06 10.96 190 40 |elim 4 8.61 724 112 34 |6|wfqene g 3 6.75 2.97 193 53
7 ; ;‘}V FEAREIL g 6.75 5.24 104 17 [7fs s 4 8.61 6.75 127 34 |7|#sm 2 450 3.90 143 35
8|agqon g 6 6.60 436 196 34 |slsgn 4 8.61 601 060 34 |8|wus 2 450 330 072 35
9ls % 5 550 414 068 28 |9|mgiqen e opn 3 6.46 553 199 25 |o|cum 2 450 253 268 35
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11| 5 2 450 3.90 143 11 |11]g s 3 6.46 460 144 25 |11|sessamen 1 2.25 195 066 18
12| 5 e 4 4.40 312 173 23 |12)ews 3 6.46 447 065 25 |12|5swm 1 2.25 1.86 105 18
k| B 4 4.40 312 092 23 |13|m A fesre s 2 430 402 210 17 |13]s % 1 2.25 186 027 18
14| s % 4 4.40 281 056 23 |14]5em 2 430 344 120 17 |14|gEm 1 2.25 147 502 18
15| 2 & <= 3 3.30 274 084 17 |wslreazame 2 430 342 098 17 |15l 1 2.25 1.47 110 18
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R 83 24991 15041 113  .00.0 w4 g 5] 54 32200 21562 114 000 st Ao ] 20 17639 9207 111 000

L 66 19872 11991 124 795 L] 48 28623 19344 134 889 S ] 26  158.14 8267 132 897
i rgspmn | 17 51.19 2064 111 205 |1|i# - rgagenn | 15 89.45 5700 144 278 |1]|ew . igeears 7 42.58 1947 192 241
p) RS 16 4818 2880 120 193 | 2|wferep mig 12 7156 4843 132 22 |2|lwpsin 5 30.41 1840 197 172
3lug impurg | 1 33.12 1790 134 133 |3|suw 4 23.85 1815 149 7.4 | 3|gesep i g 4 24.33 928 095 138
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4l s 5 30.41 1840 197 60 |4|wy.igionrs 4 23.85 1500 o8 74 [4f7% 2 12.16 989 165 69
5 ;;“ﬁ?‘ Sl I 12.16 9.89 165 24 |5]- s 3 17.89 13.36 059 56 |5|~im 2 12.16 5.66 332 69
6| i 2 12.16 566 332 24 |6|ews 3 17.89 1165 691 56 |6|i# 45 uqerm 2 12.16 566% 042 6.9
7|45 4 12.04 853 138 48 |7|wwms 3 17.89 1157 150 56 |7fssp 1 6.08 397 203 34
8| 3 9.03 622 055 36 |8liam 2 11.93 652 144 37 |8l 1 6.08 397 061 34
9 |wwn 3 9.03 578 449 36 |9fv s 1 5.96 556 801 19 |9lsewn 1 6.08 354 270 34
10|55 3 9.03 540 093 36 |10]7 "> ?‘*% FARGEL L 5.96 530 665 19 |10|m i febrim 1 6.08 283 429 34

FRTPIIE 17 51.19 3050 084 205 P 6 35.78 2218 053 111 Hu B 7 3 18.25 939 047 103
115 i 3 9.03 488 158 36 |11]ssppcmmig 1 5.96 421 058 19 |11|ressemen 1 6.08 283 145 34
1|5 5w 1 6.08 354 270 12 |2lses 1 5.96 401 124 19
13 i}?i}’i FARGEL 5.96 530 665 12 |13)egqen v mga 1 5.96 372 159 1.9
14] 71 sk 0O 1 5.96 421 058 12 |1alses 1 5.96 372 136 19
15| 7 o 1 3.01 288 555 12
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54 e 7 217 17390  117.51*  0.86* .00.0 4 g 7 142 22793 16480 088 .00.0 st Ao ] 75 120.04 7635 084 000

g 165  132.23 8937 087 760 L 117 187.80 13526 089 824 T g 60 96.03 6371 084 800
Wis - tisfmn | 47 37.67 2537 0982 207 |iliw - rgasenm | 32 51.36 3678 092 225 |1|ss - tgagerm | 15 24.01 1557 093 200
2 [seqermp 5 5 34 27.25 1870 074 157 | 2|sqesponig 26 41.73 3057 083 183 |2|epsiw 11 17.61 1223 119 147
3lany  syoemg | 25 20.04 1335 091 115 |3|es . igturs | 16 25.68 1823 106 113 |3|uu . zmiears 9 14.40 976 073 120
Y P 1 17.61 1223 119 51 |4|- s 10 16.05 12405 056 7.0 | 4|swqesepmi g 8 12.80 787% 057 107
] ERIETE TEPE 5 8.03 564 090 23 |sleeizamen 8 12.84 915 269 56 |5]i# 5 8.00 535 090 67
6| en 10 8.01 6.02% 051* 46 |6|wus 5 8.03 620 073 35 |6|rim 3 4.80 329 144 40
7 10 8.01 5.16 093 46 |7[srpcmmion 5 8.03 564 090 35 |7 fg ;*" S 4.80 2.98 071 40
8lem 4 2 ame 9 7.21 464 171 41 |8leww 5 8.03 557 053 35 |8|+zwm 2 3.20 252 145 27
9 | n 7 5.61 402 064 32 |9lsms 5 8.03 547 204 35 |9l|agqereagm 2 3.20 222 084 27
10|55 7 5.61 309 186 32 |iols % 5 8.03 525 095 35 |1ofwws 2 3.20 191 049 27

Hussgprm | 52 41.67 2815 084 240 duztigarn |25 40.13 2954 086 17.6 duzsigarn | 15 24.01 1265 087 200
15 i 6 481 345 093 28 |11]sim 4 6.42 500 085 28 |11fs iy 2 3.20 181 117 27
12| s 3 % 6 4.81 325% 058 28 |12|sFm 4 6.42 447 140 28 |12]ssem 2 3.20 156 157 27
134 5 % 3 4.80 329 144 14 |13lws 3 4.82 330 186 21 |13|eum 1 1.60 113 156 13
w? FARTEANTE g 4.80 208 071 14 14| 4 ges g 1 161 130 074 07 [14|m i qenr e 1 1.60 094 120 13
15 5 =1 4 321 217 124 18 |81 5% 1 161 128 405 07 |is|ews 1 1.60 078 133 13
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54 e 7 122 21878 14464 105 .000 4 g 7 78 27491 19907 106 .00.0 st Ao ] 44 160.63 9655 105 .00.0

g 97 17394 11687 111 795 L 68 23966 17492 117 872 T g 37 13508 8527 112 84l
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2lis - tistenan | 20 35.86 2231 084 164 |2|is - rgusenn | 12 42.29 2778 075 154 |2|uw . zmiears 7 25.55 1278 117 159
3lan  syoemg | 16 28.69 1977 122 131 |3|es . igqears 9 31.72 2561 128 115 |3 [seqesen i 6 21.90 1385 091 136
4lcsen 8 14.35 1123 093 66 4] 8 28.20 2216 100 103 |4 |wues 3 10.95 853 155 68
5 | 7 12.55 971 140 57 |sleww 5 17.62 1313 118 64 |5|reiz<men 3 10.95 618 267 68
6 ; ;W FEAREE) g 10.95 6.18 155 25 |6|wws 4 14.10 10.82 130 51 |s ;;W AR g 10.95 6.18 155 6.8
7|5 1R GEE OB 3 10.57 653 112 25 |7[sssrcmmsn 3 1057 653 112 38 |7|lepsrum 2 7.30 594 050 45
8|4 5 8.97 633 108 41 |8l 2 7.05 461 092 26 |sliwm 2 7.30 534 076 45

L R ¢ A s
) BT 2 7.30 so4 oo 16 fo L ALE 1 352 364 2559 13 |o|vww 2 7.30 384 533 45
s IR (Patf

10] i 2 & <o 4 717 426 160 33 |10|mgqen i 1 352 317 101 13 |10]s s 1 3.65 319 129 23

Aussigare | 25 4483 2777 086 205 Auzscgrrn |10 35.24 2415 066 128 A T 7 25.55 1128 080 159
1) & 3 5.38 361 058 25 |u)iwa 1 352 225 864 13 |11)us 1 3.65 267 174 23
12]5 s 3 5.38 352 100 25 |12|% fom sat 1 352 225 609 13 |woleim 1 3.65 255 107 23
134 5 % 1 3.65 255 107 08 |13lezsampneann| 1 352 215 214 13 |35 e s 1 3.65 108 170 23
145 3w 1 3.65 108 170 08 |wlreszamen 1 352 215 073 13
15| 75 2 3.59 205 190 16 |i5|s % 1 352 215 040 13

oL BRIP4 E Y A v i 55,7604 F 428,373+ A 27,3924 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
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54 e 7 88 20649 11307  081* .00.0 4 g 7 58 26307 14833  0.76* .00.0 st Ao ] 30 14584 7675 084 000

g 76 17833 9418 093 864 L 52 23586 12692 087 897 T g 28 13612 7209 099 933
Wis - tisfmn | 22 51.62 2363 096 250 |1liw - tguderm | 19 86.18 4039 111 328 |i|epsim 7 34.03 2265 209 233
2|~ s a 7 34,03 2265 200 80 |2|wgesprig 9 40.82 2210 063 155 |2|uw . zmiears 6 29.17 12.01 119 200
3 [seqormp 5 4 13 30.50 1602 067 148 |3|ey.imiars 6 27.21 1553 077 103 |3 [sgesen i 4 19.45 958 069 133
4wy smqeern | 12 28.16 1388 096 136 |4|: % 5 22.68 1197 174 86 |aliw . tqusern 3 1458 6.79% 046  10.0
5 | A1 G OB 4 18.14 10.29 117 45 |5|esmesmion 4 18.14 1029 117 69 |5|reiz<men 2 9.72 593 200 67
6|s % 7 16.42 8.35 139 80 |6]|-sm 3 1361 928* 041 52 |e|im 2 9.72 420 088 67
7| 5% 4 9.39 635 098 45 |7|sun 3 1361 863 075 52 |7lsum 1 4.86 413 406 33
8| v 4 9.39 538* 053 45 |8|spum 1 454 334 069 17 |8 fg ;*"" ARy 4.86 3.12 060 33
9 ;;Wf“‘i”ﬁ; 1 4.86 312 060 11 |9|vws 1 454 2.70 152 17 |9 |wus 1 4.86 2.08 060 33
10] i 2 & <o 2 4.69 201 083 23 |iofm 1 454 270 147 17 |1olsmm 1 4.86 1.59 164 33

Hoozbt A ) 12 28.16 18.89*-  0.44* 13.6 How 2t L g 5t F] 6 27.21 21.41 0.35* 10.3 Hoig 2t X R 5 F) 2 9.72 4.66*-  0.26* 6.7
1155 2 4.69 251 104 23 |11]s=m 1 454 215 o086 17 || s 1 4.86 139 215 33
12| #s 1 2.35 1.38 102 11 |12fs s 1 454 215 042 17
13| 1 2.35 138 088 11
14| 5 = 1 2.35 106 081 11
154 i g 1 2.35 106* 035 11
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2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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54 e 7 141 27060 14261 102 .000 4 g 7 89 33098 19068  1.03 .00.0 st Ao ] 52 20622  100.64 104 .00.0

N 117 22454 12017 110 830 L g 77 28635 16487 112 865 T g 45 178.46 9010 114 865
1 |sgosep 25 4 31 59.49 3245 125 220 | 1|sgespomig 21 78.10 4569 127 236 | 1|wgesen i 10 39.66 2077 122 192
2lis - tistenn | 30 57.57 2825 103 213 |2|i# tgusemm | 20 74.38 42173 103 225 |2|i# - tisfrm | 10 39.66 1726 108 19.2
3lan  syoemg | 13 24,95 1395 082 92 |3]-um 9 3347 1992 101 101 |3|ww . zmienrs 5 19.83 1016 069 96

] - SPFEWEAP A
4|5 % 1 21.11 1177 173 78 |4|es . igqears 8 29.75 64 0o4 90 [af7F 5 19.83 773 224 96
5 ;;“ﬁ?‘ FEAREEL g 19.83 7.73 224 35 |s]|i# 7 26.03 15.53 221 79 |5|ews 4 15.86 8.54 170 77
6|cen 10 19.19 1168 106 7.1 |6|wus 4 14.88 679 110 45 |eli#m 4 15.86 807 124 77
7 e 8 15.35 715 133 57 |7)|sum 2 7.44 537 042 22 |7lepsrum 3 11.90 910 070 58
] RTINS 3 11.90 910 070 21 |8|mfien g 2 7.44 426 173 22 |8liswm 2 7.93 249 221 38
9|4 3 5.76 400 059 21 |9lsmm 2 7.44 405 142 22 |olewm 1 3.97 304 148 19
10+ s 5 3 5.76 247 084 21 |10|mmm 2 7.44 389 139 22 |iwof~im 1 3.97 294 091 19

Auzocgerm | 24 4606 244 077 170 gusrtagarn | 12 44.63 2581 067 135 A T 7 27.76 1054 065 135
1o et i 3 5.76 239 119 21 |ulreszamen 2 7.44 340 122 22 |ufeiqemepn 1 3.97 258 225 19
7 ERSE e 3 5.76 198 098 21 [12]s sy 1 372 220 039 11 |12|sum 1 3.97 197 301 19
134 5 % 1 3.97 204 091 07 |13|m e msin 1 372 167 149 11 |13)ws 1 3.97 197 164 19
14]m o ot 2 3.84 194 181 14 |14]ssiscmmeom 1 3.72 167 029 11 |1a|sessamen 1 3.97 107 070 19
15 5 =1 2 3.84 186 132 14 15|58 o8 w2k 1 3.97 08 073 19
W 3L 1.4 Bi- HRALE ® K- @k 3°52, 1064 9 226,800 X~ {225, 216 £ -
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

R 37 21663 14026 103 000 w4 g 5] 24 27149 18757 100 .00.0 “id g 5] 13 15777 9225 105 .00.0

L 32 18735 12339 134 865 L] 22 24887 17444 120 917 S ] 13 15777 9225 157 000
1| perep o 8 46.84 3060 124 216 | 1[wferepmgg 5 56.56 4296 100 208 |1]ew . zmionrs 4 4854 3130 229 308
2|an inponrg 6 3513 2185 148 162 |2|i# - tqagemn 4 525 2864 076 167 | 2|wfesp 2y g 3 3641 1719 154 231
3lia -t g m 5 2927 1730 o067 135 |[3|im 3 33.94 2234 365 125 |3|cprim 2 2427 1866 167 154

o . PREE P dRAY Tk A
Y IR 2 2427 1866 167 54 |4|ssw 2 22,62 w2 14 83 el LR 1 1214 936  8961* 7.7
s IR (Pt Y
5|5 % 4 2342 1330 251 108 |5|www 2 22,62 1374 200 83 |s|im 1 1214 586 129 7.7
6|sm 2 1171 903 139 54 |6|lew-impnrs 2 22,62 1329 086 83 |6|i# - tiiorm 1 1214 586 044 7.7
7|5 2 171 635 129 54 |7|smensn 1 1131 1391 1915 42 |7|reisemen 1 1214 403 306 7.7
8 %:f;ﬁf HOEE | 1131 699 1296 27 |8|vws 1 1131 791 455 42
9% fon 580 % 1 5.85 745 1321 27 |o|run 1 1131 714 038 42
10[ #E* PR AR 5.85 467 4137 27 |1ofF L ERF RS 1 1131 699 1296 42
i 2 (g ) i )

R g ) 5 2927 16.87* 041* 135 AL g T 2 2262 1313* 035 83 HAd s 0 0.00 000 000 00
11 5 1 5.85 403 306 27 |1|sem 1 1131 699 231 42
12) e s 1 5.85 385 037 27
13| 5 1 5.85 382 217 27
V| PR 1 5.85 250 129 27

oLt EA e RE Y A vdie R17,0804 9 448,840% & 48,240% -
2. & iv 5+ = F ( Standardized rate) % 722000 W.HO. £ f 4 ¢ Ed2 4 2 28 o Tk | 2380 5= FRF MO BEE L = 0 TX ) 2 7R85 = SR F 3305 BHER 5= 5 (0=0.05)
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54 e 7 71 19547 13391 101  .00.0 4 g 7 52 27981 21344 115 000 st Ao ] 19 10711 6117 077 000

g 50 16243 11288 113 831 L 47 25291 19543 128 904 T g 19 107.11 6117 116 .00.0
is-tisfmn | 16 4405 3133 112 225 |1l|is - igudens | 13 69.95 5487 133 250 |1|uw 2w 4 22.55 1143 115 211
2| e | 12 33.04 20.35 154 169 |2 |swqesep 2y g 8 43.05 3514 092 154 2;;§‘%&*mﬁ; 3 16.91 11.39 259 158
3 [seqormp 5 4 1 30.28 2243 087 155 |3|uy.imieoars 8 43.05 3075 187 154 | 3|sgesn 3 16.91 970 077 158

FEFFEIMEAP T F A oy o o
als i 3 16.91 1139 259 42 |a|agw 4 2152 1599 149 77 |alis o tqusenn 3 16.91 879 067 158
5 | A1 G OB 3 16.14 1130 190 42 |s|i s 3 16.14 1333 201 58 |5|ws 2 11.28 723 549 105
6|s % 4 11.01 760 131 56 |6|-um 3 16.14 1308 059 58 |6~ 1 5.64 452 174 53
7| 5% 4 11.01 743 130 56 |7]|sspcmmepn 3 16.14 11230 190 58 |7|i# 1 5.64 308 065 53
8|esm 3 8.26 674 055 42 |8lews 2 10.76 842 106 38 |8|majemmmn 1 5.64 251 451 53
9| i m 1 5.64 452 174 14 |9lreizamen 2 10.76 800 236 38 |9|wfiqeoneapn 1 5.64 251 155 53
10| 565 2 551 418 066 28 [10|m 4 fobr o 1 5.38 456 262 19

Hustagarn | 12 33.04 21.03* 068 169 A & g B 5 26.90 1801*- 059 96 A T 0 0.00 000 000 00
1= 2 551 369 245 28 |11fmgqen oz 1 5.38 363 166 19
12| ot 2 5.51 365 331 28 |12|®uwew 1 5.38 344 237 19
18] 2 & e 2 551 365 134 28 [13]s im 1 5.38 344 076 19
14]e g fen 2 2 5.51 330 160 28
15| 75 1 2.75 145 157 14

WoGLc g ErE EARE S Ar e $236,3234 9 4218,584% L iLIT, 7384 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
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54 e 7 106 22216 13803 102 .00.0 4 g 7 56 22511 15139 082 .00.0 st Ao ] 50 21894 12335  137* .00.0

g 87 18234 11409 111 821 L 50 20099 13482 093 893 T g 43 18829  109.04*+ 1.49* 86.0
i tiasmn | 26 54.49 3366 121 245 |1|is - igugerm | 14 56.28 3602 094 250 |1lsw - rgagerm | 12 52.55 3308 180 240
2|y syioerg | 14 29.34 1653 119 132 |2]- s 12 48.24 3526 163 214 |2|ew . imqears 9 39.41 1805 173 180
3|e 12 25.15 1835 157 113 | 3|sqespzig 6 24.12 1510% 046 107 |3 |sefosep 23 6 26.27 1536 103 120
4 |seqermp g 5 12 25.15 1515% 064 113 |4]|es i gqourg 5 20.10 1418 076 89 |4|+psrim 3 13.14 1052 088 60
5| s 3 13.14 1052 08 28 |5|auwm 4 16.08 1114 102 71 | 5| 3 13.14 751 177 60
6 | A1 G OB 3 12.06 679 117 28 |6|srsmcmmEin 3 12.06 679 117 54 |elreizamen 3 13.14 573 301 60
HErT 5 10.48 6.65 122 47 |7|rereameon 2 8.04 571 155 36 |7 fg ;f i B 8.76 6.81 119 40
8 e 5 10.48 653 111 47 |8)ews 2 8.04 532 o071 36 |sliwm 2 8.76 552 087 40
9lsm 42 ame 5 10.48 602 221 47 |olv e 1 402 265 531 18 |olsmm 2 8.76 252 313 40
10 ; ;‘}V L B 8.76 6.81 119 19 |10|5 = 1 402 265 083 18 |10} 1 438 3.93 199 20

Auzoagprmn | 10 39.82 2394 073 179 AL g T 6 24.12 1657%  042* 107 A T 7 30.65 1431 093 140
114 5 % 1 438 159 121 09 |11)mgen omia 1 4.02 202 111 18 |1]euwm 1 438 159 390 20
1 % 2 419 279 043 19 12| 5 5 1 438 159 121 20
13|53 2 4.19 162 115 19
14} 1 2.10 190 086 09
18] 7 iy 1 2.10 145 399 09

oL BARE R E Y A volie M7, 144 94324, 87T4 4 422,8374 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

1 R F 81 205.90 135.55 1.02 .00.0 HEF R 7 F 46 226.13 168.36 0.89  .00.0 Eh R 7 F 35 184.25 108.30 126  .00.0
isern e e wa1s 12 0 | |imern | 3 19172 14048 101 848 | |-<mesm | %0 15793 9esi st 67
1 Pprfessp 24 18 45.76 31.82 1.27 222 Lprfesep 28 % 9 44.24 34.66 0.91 19.6 1 Pprfessp 24 9 47.38 28.72 207 257
2|5s 25 i enn 17 4321 25.47 105 210 [2|f# i Eqenm 8 39.33 27.06 071 174 |2|5% 256w 9 47.38 26.58 179 257
3| ek 7 17.79 12,77 1.16 8.6 3| 7 34.41 26.17 121 15.2 3l - il 4 21.06 1321 1.01 11.4
4155 ~ B foi B 6 15.25 9.93 0.68 7.4 413 & 3 14.75 9.68 174 6.5 413 &% 2 10.53 4.83 114 5.7
513 % 5 12,71 6.63 1.43 6.2 S |4 EV 2 9.83 8.64 2.10 4.3 5 |7 1 5.26 5.73 2.55 2.9
6 | SR (R ) e 2 9.83 6.52 1.10 2.5 Cl EES 2 9.83 7.51 1.33 4.3 6 PR 1 5.26 5.43 0.78 2.9
A EES 3 7.63 4.92 1.47 3.7 T/ A o o o 2 9.83 7.47 4.66 4.3 7|5 %% 1 5.26 3.60 4.01 2.9
8 | Ty 3 7.63 4.52 4.12 3.7 8 |5 SR ()R 2 9.83 6.52 1.10 4.3 8|t ird w2 B 1 5.26 3.60 1.38 2.9
) XL 1 5.26 174%- 037 1.2 9|&% ~ 2 2 9.83 6.41*- 041 4.3 Sl ERCE W A 1 5.26 2.75 1.35 2.9
10] # F & 2 5.08 4.66 1.96 25 |10} =% 2 9.83 6.37 411 43 |10]5 i g 1 5.26 2.07 1.92 2.9
Jreoisan [ v w2 mas 0w 20 [ |wescimenn | 7 mar zer oss 152 | [wesccmesn | 5 232 aree 057 143
1 2 & Sl = B 2 5.08 4.02 118 25 |1l d £~ B 1 4.92 4.95 1.04 22 11| 1 5.26 174 211 29
12|/ & e o oty 2 5.08 3.97 3.01 25 |12} s % 1 4.92 4.39 0.33 22 |12~ 55 % 1 5.26 1.74%- 037 2.9
13] 7% 1 2.54 2.64 1.10 12 |13)# ¢ 24cRlH § B 1 4.92 3.30 8.74 2.2
14] & &% 1 2.54 2.43 0.31 12
15]5% s 1 2.54 2.43 0.29 1.2

spoosnc L5t R4 kamiE Y A orgic 3439,3304 ¥ 4420,3424 & 4+18,9964 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X R Fe= L % e (ICD-10% #f) A #c o= & =& Fe= %
15 R 7 %] 93 202.39 131.73 0.99 .00.0 5 R 7 %] 60 253.74 177.05 0.97 .00.0 S Rl 7 %] 33 147.96 88.71 1.02 .00.0
LR F) 69 150.16 97.76 0.97 74.2 L X Bt F] 50 211.45 146.08 1.15 83.3 L X g 7t F] 27 121.05 75.66 1.13 81.8
INFE R Rl 18 39.17 24.95 0.94 194 Ll -2 58" % 14 59.21 39.95 1.05 23.3 1l%% ~ 2 %4 r g 7 31.38 18.37 1.55 21.2
2 |p{esFp e g 17 37.00 23.03 1.00 18.3 2 P s 14 59.21 39.64 1.18 23.3 205 F ~ A5 iR 4 17.93 11.19 0.68 121
3|~ o R 8 17.41 10.59 0.77 8.6 3|k 7 29.60 21.33 1.01 11.7 Kl EEEELRS 3 13.45 10.42 0.90 9.1
41k 7 15.23 10.76 0.95 75 4165 R® 5 21.15 15.75 1.37 8.3 4 e p 2 g 3 13.45 8.21 0.59 9.1
o . FEFEIEAP S
5]+ 5 5 % 3 13.45 10.42 0.90 3.2 5 %R 3 12.69 8.96 1.16 5.0 5 e 3 13.45 6.67 1.95 9.1
FEFEIMEAP T F . I
6 PR 3 13.45 6.67 1.95 3.2 6 |4 F1% 2 8.46 5.89 1.79 3.3 6]+ ¢ % 2 8.97 6.59 3.99 6.1
AEEE 5 10.88 8.09 1.29 5.4 T g ot @ e R 2 8.46 5.35 2.40 3.3 715 % 2 8.97 4.20 0.98 6.1
8|+ v 2 8.97 6.59 3.99 2.2 8 v s 1 4.23 343 2.56 1.7 8| A T e o 1 4.48 4,54 3.55 3.0
9 sk 3 6.53 4.32 0.74 3.2 915 % 1 4.23 3.00 0.49 17 9 “,1—&8;?1% 1 4.48 2.74 14.44 3.0
10} 5 % 3 6.53 3.79 0.74 3.2 1005 = 1 4.23 2.78 1.06 1.7 10)v g 1 4.48 2.74 1.62 3.0
Hig 2bL X g & F) 24 52.23 33.97 1.06 25.8 How 2t L g 5t F] 10 42.29 30.97*-  0.56 16.7 How 2t X g 7 F] 6 26.90 13.04 0.70 18.2
11 4ot & 225 3 6.53 3.76 1.77 3.2 11)5 & Fi 1 4.23 2.78 0.56 1.7 11)53 » % 1 4.48 2.55 2.02 3.0
12 f sF v 2 4.35 2.84 1.63 2.2 1285 ~ & % foiz PP Ry 1 4.23 2.78*-  0.17* 1.7 120 4 £ <l ” B 1 4.48 1.66 1.20 3.0
13) %3 = % 2 4.35 242 1.39 2.2 13| 5 %% 1 4.23 2.52 171 1.7 132 frdl 4 P28 A 1 4.48 1.66 1.16 3.0
14]5 % P 2 4.35 2.38 0.84 2.2
15/ R fe i o Rk 1 2.18 2.22 1.26 11
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2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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54 e 7 52 21596 11226 081 .00.0 4 g 7 38 29964 16152 088 .00.0 st Ao ] 14 12283 6513 063 .00.0

g 46 191.04 99.62 103 885 L 35 27598 15003 104 921 T g 14 12283 6513 094 .00.0
| R 12 49.84 27.94 105 231 | 1[wqesepagg 9 70.97 3868 111 237 |1|mggen e 4 35.09 1976  656* 286
2|5 st 5 atern 9 37.38 2130 067 173 |2|i# -t sfrm 8 63.08 3479 083 211 | 2|wgesen mua 3 26.32 1878 084 214
3| -2 pqenr g 8 33.22 1452 107 154 |3)es . imqeems 6 4731 2450 140 158 |3|uw . zmiears 2 1755 588 062 143
4lagqen ¢ 5 20.76 1260 427 96 |4]-m 4 31.54 1685 092 105 |alf# 5 uomn 1 8.77 615 025 7.1
5| sen 4 16.61 8.46 090 77 |s|aEm 2 15.77 7.99 290 53 5;;§‘%&*mﬁ; 1 8.77 514 099 7.1
6 |5 3 12.46 421 260 58 |6|sms 2 15.77 657 272 53 |leliwa 1 8.77 353 1659 7.1

FEHEENEAP TS P -
4194 1 8.77 514 099 19 |7|mgieneomgw 1 7.89 587 176 26 |7|lpsrsm 1 8.77 353 052 71
8| pr s m 1 8.77 353 052 19 |8sim 1 7.89 493 078 26 |8|smm 1 8.77 235 233 71
9|s 8 2 8.31 400 279 38 |9lwspcEmia 1 7.89 493 056 26
i EREYE =2 30 1 7.89 493 056 19 |10]s 1 7.89 491 043 26

P2 g 6 24.92 12.64* 031* 115 B L A 3 23.66 1149%  032* 7.9 B % T 0 0.00 000 000 00
1] s 1 415 266 042 19 |11|wus 1 7.89 350 056 26
12|54 5 1 415 247 060 19 |12]s 1 7.89 309 064 26
13|15 % 1 415 176 738 19
14| 5 1 415 176%- 036 19
i 1 415 133 034 19

Wil g B EBINAE Y A v Bk 424,079 4 7 4212,6824 & 11,3984 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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= R ¥ A g/,,\ub = R O¥ gL —FT/,,\;L F o= R 9% LA 'p’/v\”
i (ICD-10%~ #8) A Hic i i Fe =Lk % | (ICD-10%4" #8) L i = & v = K Fv =k % | (ICD-10%4 #8) A #ic e F i 7=k %
“h e F 83 227.43 141.94 1.07  .00.0 74 e~ F 59 311.84 217.32 1.18 .00.0 h R 7 24 136.57 68.91 0.88  .00.0
LA B 7 70 191.81 121.64 1.26 84.3 LA g F) 53 280.13 197.03 1.35* 898 LA e A F) 23 130.88 66.96 112 95.8
1P#fesp 23 % 19 52.06 33.59 1.37 229 1 Pprfessph o4 14 74.00 51.74 1.46 23.7 1 Pp+fermp 28 % 5 28.45 15.07 117 20.8
2|leg % 13 35.62 21.27*+  4.13* 157 2leg % 11 58.14 38.58*+  3.70* 18.6 2|25 ~ o 5 28.45 11.78 1.30 20.8
3lid A FEfR 11 30.14 17.45 0.69 13.3 B i ¥ A F F ok 8 42.28 28.21 0.74 13.6 3lig A FE R 3 17.07 9.19 0.61 125
41 - BB 11 30.14 16.47 1.28 13.3 4l BB fonr R 6 3171 20.16 1.27 10.2 415 B s R 2 11.38 10.33 0.74 8.3
5] 5 13.70 9.95 0.84 6.0 5| s 5 26.43 20.05 0.88 8.5 I EEE ] 2 11.38 5.51 10.45* 8.3
6 |+ 5 5 % 2 11.38 10.33 0.74 24 6 |5 5% 3 15.86 12.89 1.44 5.1 6 | 2 11.38 4.70 4.44 8.3
HEX T 4 10.96 8.38 1.19 48 7|8 FvE 2 10.57 8.75 2.18 3.4 7 =%% 1 5.69 4.36 0.79 4.2
8 |¢r i % 1 5.69 2.10 1.60 1.2 8 |rek 2 10.57 7.89 6.20 3.4 8| L% 1 5.69 2.10 1.60 4.2
9 | *F V& 2 5.48 4.49 2.00 24 9% % 1 5.29 4.42 0.60 1.7 9s & 1 5.69 1.95 1.93 4.2
10)&7% 2 5.48 3.73 6.18 2.4 V10| A fodk e ok 1 5.29 4.33 2.45 1.7 |10} % 1 5.69 1.95 0.59 4.2
Hig 2bL X g & F) 13 35.62 20.31*- 0.59 15.7 How 2t L g 5t F] 6 3171 20.28*-  0.55 10.2 How 2t X g 7 F] 1 5.69 1.95*-  0.15* 4.2
1105 % 2 5.48 3.43 0.59 24 |11 i g 1 5.29 3.37 0.69 1.7
12) 5 = % 2 5.48 2.77 1.63 2.4 12| 5 %% 1 5.29 3.09 2.12 1.7
Ik B 2 5.48 2.47 1.02 24 |13 s GBSO A 1 5.29 3.09 0.56 1.7
1413 5 o ) 1 5.29 3.09 0.56 12
15/ R fe i o Rk 1 2.74 2.30 1.53 1.2
o LB RE Y A v e $436,4944 F 18,9204 A 17,5744 o
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 94 28425 15712 110 .00.0 4 g 7 66  380.14 22685 117  .00.0 “id g 5] 28 178.28 9239 093 000

N 76 22982 12845 121 809 L g 60 34558  208.76*+ 1.35% 90.9 T g 23 146.44 7909 104 821
is - tisfrn | 29 87.70 a096*+ 161% 309 |1l|fs-tiafrm | 23 13247 75174+ 182% 348 |1 |seqesep i 6 38.20 1936 123 214
p) RS 18 54.43 3201 118 191 | 2[|sqespomig 12 69.12 427 113 182 |2)iw -t sgemn 6 38.20 1635 109 214
3lan s yoemg 7 21.17 1331 071 74 |3|eg.igqenrs 5 28.80 1850 090 7.6 |3|cpsim 3 19.10 1073 117 107
4l s 3 19.10 1073 117 32 |4 4 23.04 16690 070 61 |4|wn.zmiears 2 12.73 817 046 7.1
5| s OR 3 17.28 751 131 32 |s|lis 4 23.04 1005 198 61 |5|s=m 1 6.37 569 1306 36
6| en 5 15.12 956 086 53 |6]|ewm 3 17.28 1292 099 45 |6|wun 1 6.37 569 154 36
71 % 4 12.10 3.98 101 43 | 7| sspcmmsm 3 17.28 751 131 45 |7 fg;f” ARy 6.37 5.69 074 36
8 |a 3 9.07 712 313 32 |s ;”ﬁ VARGl 1152 831 1008 30 |8|wus 1 6.37 432 071 36
9|4 3 9.07 693 09 32 |9|sFm 2 1152 817 217 30 |9lrrizamen 1 6.37 179 117 36
104 i % 1 6.37 569 154 11 |10]s i 2 1152 716 120 30 |10]v sem 1 6.37 128 245 36

Hoi bl L o R 18 54.43 28.67 0.79 19.1 Ho bt & R v F 6 34.56 18.09*-  0.52 9.1 Hoig 2t X R 5 F) 5 31.83 13.30 0.63 17.9
11 ;;W FEARETL 6.37 5.69 074 11 |11)sm 1 5.76 372 196 15 [11|mms 1 6.37 1.28 171 36
12 ;ﬁ IR e NP I 6.05 430 1974« 21 |12|s5en 1 5.76 255 106 15 |12)e fqen ¢ min 1 6.37 1.28 121 36
13| < 5 2 6.05 381 090 21 |13 j’;\?i} S I 5.76 241 569 15
14|50 2 2 e 2 6.05 205 105 21 |14|ews 1 5.76 241 205 15
15|55 2 6.05 171 130 21 |5lae sz ame 1 5.76 241 093 15

Moz LRy RORE Y Lo 3433,069% ¥ 417,362+ 15,7064 -
2. &% i+ 5= & ( Standardized rate) % 220002 W.H.O, & f % v #8084 5 A% o Tk ) 201057 = FRF R BHRE L = 500 T ) 2R 52 FRF G 0§ 1 SR 5= 5 (070.05)
3. #& % i 5+ = 1t ( Standard mortality ratio, SMR) o {3 it v = ib=F 5= g / Y 7= Peo XA T EF M 55 BFF R (0=0.05) -
4, TR KR LA AR FLE R Rt B R A vt
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5 0 B o~ X kR R & = R F
% ®104# (2015 )
£ i 7 B + 1
g B R 7= Ly R 3 B R 7 Ly R s A 3 & B 7 Ly R ¥ El
= R ¥ A g/,,\ub = R O¥ gL —FT/,,\;L F o= R 9% LA 'p’/v\”

[ (ICD-10%4 #8) A i Fe= % =K Fe =L % |i= (ICD-10% #f) (¥ 7= K = % =L % | (ICD-104 #7) A s ok o & Fe =L %

1 R F 93 266.71 158.90 122  .00.0 HEF R 7 F 55 305.86 201.14 111  .00.0 4 R 7 %] 38 225.01 123.60 1.42* .00.0

LA e 7 F) 78 223.69 132.78*+  1.40* 839 LK Rt F] 49 272.49 180.86 1.33 89.1 L X g F] 34 201.33 111.09*+  1.84* 895
1|srfosmp o3 27 77.43 46.69*+  1.97* 29.0 1|prfosmp 23 16 88.98 59.54 1.68 29.1 1 Pprfessp 24 11 65.14 34.50 2.61* 289
205 8~ A5 E R 20 57.36 34.33 1.28 215 205 # ~ A5 B R 14 77.86 50.75 1.29 255 205 F ~ A5 iR 6 35.53 19.53 1.24 15.8
3|45 - 2B i n 9 25.81 15.21 1.05 9.7 3|k 4 22.24 14.33 0.74 7.3 3|&% ~ Lo R 5 29.61 17.75 131 13.2
4 15 5‘J”ﬁt(%€§“$)‘% 4 22.24 13.50 2.23 4.3 4%~ BB R 4 22.24 13.85 0.84 7.3 415 % 4 23.69 13.86 2.37 10.5
513 % 5 14.34 9.46 1.48 54 51 fnjﬂ?\(i&gﬁvﬁg)ﬁf 4 22.24 13.50 2.23 7.3 5| et & 2 R 2 11.84 6.73 2.83 5.3
6 ; ;‘*ﬁ?‘ FEATEIL 11.84 587 160 22 |6lsms 2 11.12 814 260 36 |6 ;;W el I 11.84 587 160 53
T s 4 11.47 6.69 0.70 4.3 I EES 2 11.12 6.48 1.40 3.6 [ EER 1 5.92 4.56 1.96 2.6
8 |55 = % 3 8.60 5.15 244 3.2 8l 4Rl d§ % 1 5.56 4.99 9.18 18 ) A W 1 5.92 4.38 141 2.6
M EES 3 8.60 5.15 1.55 3.2 9 %% 1 5.56 4.67 2.06 18 9 '3 m 1 5.92 2.08 2.20 2.6
100 15 5 &% 1 5.92 1.83*-  0.39 1.1 1005 % 1 5.56 4.62 0.60 18 10 &% % 1 5.92 1.83 416 2.6

Hig 2bL X g & F) 15 43.02 26.12 0.74 16.1 H s 2L X g 5t F] 6 33.37 20.28*- 047 10.9 How 2t X g 7 F] 4 23.69 12.51*-  0.48 10.5
11 4ot & 225 2 5.74 3.48 1.46 2.2 11) 8 = 1 5.56 3.52 1.13 18 1+ 5 5 % 1 5.92 1.83*-  0.39 2.6
2lge s 2emaen] 1 2.87 2.66 7.47 11 |12]s g% 1 5.56 3.38* 0.35 1.8
13) %% 1 2.87 2.43 1.16 1.1 13| & o i 1 5.56 3.31 2.40 18
14)2Lm £ & M= B 1 2.87 2.15 0.61 11 145 5% 7% 1 5.56 331 0.48 18
15/ R fe i o Rk 1 2.87 1.78 154 11
HEosn LR e mEY v fc 3434,8694 7 4417,9824 % 1216,8884 -

2. {5 v 7 = & ( Standardized rate) % 22000 W.H.O, & % A v Ed 4 5 A o Tk ) L 7R 5= FRF MM SRR = &5 T ) 27 5= FAFF 5045 SR8 5= F(0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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3 J104& (2015#)
& 3+ 7 [ - A
5 * & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» 2 RO L B A » = R OF) U e oA » 2 R OH AT oA

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

R 83 21789 13265 097 .00.0 w4 g 5] 56 28249 18712 101  .00.0 “id g 5] 27 147.80 8398 090 .00.0

N 66 17326 10644 098 795 S ] 48 24213 16313 110 857 T g 23 125.90 7605 099 852
1| perep o 15 3938 2540 097 181 | 1|wferepaig 12 60.53 4249 113 214 |1)iw 4 2190 1357 210 148
2|is - tgagenn | 13 3413 1912 073 157 |2|is-tigsnm | 10 50.44 3119 082 179 |2|ew . zmiears 3 16.42 1000 070 111
3| 9 23.63 1640 143 108 |3|- 7 35.31 2410 117 125 | 3|gesep g g 3 16.42 859 062 111
alan s yioemg 9 23.63 1281 094 108 |4|wy.zgionrn 6 30.27 1852 112 107 |4|i# -t gaqers 3 16.42 811 055 111
5 |55 5 13.13 848 134 60 |5|eww 4 20.18 1356 126 7.1 |5|c e 2 10.95 782 515 74
6|« s 4 2 10.95 655 070 24 |6)|ews 3 15.13 1136 129 54 |6]suyp 2 10.95 744 354 74
7|5 % 4 1050 697 105 48 |7|us 2 10.09 744 370 36 |7|lprsm 2 10.95 655 070 7.4
8|4 4 10.50 687 119 48 |8|srspcmmsin 2 10.09 585 097 36 |8|wus 2 10.95 563 143 74
9 | s OB 2 10.09 585 097 24 |9 i}:i} ?‘*g FARGEL L 5.04 440 559 18 |9 ponm 1 5.47 417 1697 37
10]4 5 3 7.8 417 137 36 |iols e 1 5.04 423 103 18 |10 fg ;*" FarsAmEsl 5.47 417 072 37

Aezoagermn | 17 4463 2622 092 205 A & g B 8 4036 2399%- 066 143 M2 s ) 4 2190 703* 058 148
11 ;;f" Sl I 5.47 417 072 12 |11 wois 1 5.04 322 677 18 |11)1 % 1 5.47 2.47 1107 37
12|+ & 1 5.47 192 242 12 |12)ew 1 5.04 302 280 18 |w2lseww 1 5.47 192 242 37
13| 7 o 2 5.25 372 967 24 |13|s ayp 1 5.04 302 062 18 |13|ewss 1 5.47 162 370 37
14] 5% 2 5.25 368 209 24 |14|ma oo 1 5.04 283 221 18
15| 5 % 2 5.25 243 1101* 24 |15)rwa 1 5.04 260 1104 18

Moot LR E Y A v fie 38,0924 9 4419,8244 4 418,268+% -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FHR KR L AR FIIO FLATAL P AN E B R A o




E -4 1 B 2 . . o
5 0 B AL O K g R RF
% F104# (2015#)
& (e 3 e - e
g R 7= e ) 1R 1% F= R & 7o £y R 2 7= e R 7= FLy 1R i 7
» = R A A g/,,\ut = R OF) e ‘FT/,,\»L F = R O7 S AT FRAR
i (ICD-10%~ #8) A Hic i i Fe =Lk % | (ICD-10%4" #8) L i = & v = K Fv =k % | (ICD-10%4 #8) A #ic e F i Fe =k %
54 ek %) 102 233.96 144.76 1.05  .00.0 54 Bk ] 65  290.05 193.88 1.02  .00.0 Iy T 37 17463 94.67 1.09  .00.0
B 85  194.96 122.49 115 833 LA e T 57 25435 172.73 111 877 L X g F 34 16047 89.66 132 919
il P AN R 18 41.29 23.74 089 176 | 1[|w+fermp sz 12 53.55 36.05 098 185 |1li# - t§ v 7 33.04 15.30 113 189
2 | s gosrp o g g 17 38.99 25.30 097 167 |2|5# -t HEra 11 49.09 32.26 078 169 |2[|#forrp s g 5 23.60 14.03 092 135
3 ; ;‘*ﬁ?‘ FEAMTIL 23.60 12.14 317 49 | 3]c 9 40.16 26.20 130 138 |3 ;;*"" e 23.60 1214  317* 135
4 - v 9 20.64 13.47 1.24 88 |4lsgm 6 26.77 18.51 1.65 92 |ales - zsnrn 4 18.88 14.15 0.83 108
5| s 4 18.88 13.48 1.22 39 |5]|: % 6 26.77 17.60 278 92 |5lepsruwm 4 18.88 13.48 1.22 108
6 | 5% 4 18.88 10.39 517 39 |6|#%  zginrn 4 17.85 13.06 0.66 6.2 |6]vim 4 18.88 10.39 517 108
7|es 2 gqenmg 8 18.35 13.59 0.73 78 | 7R 3 13.39 10.36 1.12 46 | 7w 3 14.16 6.56 1.91 8.1
8l ® 8 18.35 10.27 1.85 78 |8]s 3 13.39 9.44 1.63 46 8] ® 2 9.44 3.60 0.93 5.4
I EET 6 13.76 8.97 1.56 59 |9]|xmssamem 2 8.92 5.62 1.66 3.1
10| 5 6 13.76 8.88 1.42 59 |10]ew 1 4.46 3.63 2.44 15
2L A g 5 ) 17 38.99 22.27 073 167 AL s T 8 35.70 2115 064 123 Ho 2t 4 g A 3 14.16 5.02%-  0.37 8.1
15 i 3 6.88 4.94 1.20 20 |11z s 2mpneam| 1 4.46 3.33 2.43 15
i B 2 459 2.37 0.96 20 |12]# Fm 1 4.46 2.90 0.90 15
18] SR CHRE RO 1 4.46 2.15 0.43 1.0 |13]" s 1 4.46 2.87 5.85 15
14|55 1 2.29 1.90 2.46 1.0 |14)osf ot v i 1 4.46 2.74 1.19 15
1502 ¢ amieu A hR] 1 2.29 1.63 1.97 1.0 |15)% Ao (s O 1 4.46 2.15 0.43 15
soo2nc 1§51 RAALEESRE P A v g 31435084 § 1422 4104 & 442],1884 -
2.3 it 7 = % ( Standardized rate) %12 2000 E WHO. £ % 4 v Edr 4 5 A0 o Tk | £ 7B 7= FAFF Mt BHR Rt = o Dk AR 5= FRE ¥ F 00 Bt 5~ = K (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
4FAL KR A AR FIA L PRI BB R A T R




E 2 B - , X R ZL 2
RTINS - SR ™ S S S
% ®104& (2015%)
2 > 7 B - B
W & = S T T R 71 B P Ee§ BEC BE 5o 9] # % PR A T
= R ¥ AT E/V\LL = R 7 gL ‘FT/,,\LL = R 9] S AT ’p‘/,,\}L

i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X R Fe= L % e (ICD-10% #f) A #c o= & =& Fe= %

R 45 28608 13341 090 .00.0 w4 g 5] 32 38326 20686 097 .00.0 “id g 5] 13 17361 5488 074 .00.0

L 39 24793 11865 106 867 L] 30 36399 19400 120 938 S ] 13 17361 5488 105 .00.0
i o tgsrmn | 1 69.93 2082 102 244 | 1|sereponig 7 84.93 3968 113 219 |1|i# -5 aferm 4 5342 2103 122 308
2 [sgeren 2 8 5086 2099 089 178 |2|i# - tqwgemn 7 84.93 3930 092 219 |2)im 3 4006 1595 267 231
3o wp 4 2543 2260 308 89 [3]|iayp 4 4853 4221 404 125 |3|cen 1 13.35 351 423 77
4|c v 4 2543 1699 123 89 |4|- s 3 36.40 2733 095 94 |4|reizemen 1 1335 351 202 77
5law s yiommg 4 2543 1006 069 89 |5|wy.igionrs 3 36.40 1744 090 94 |s5|eprsm 1 13.35 351 070 7.7
6|5 % 3 19.07 820 127 67 |6|wws 2 24.27 794 145 63 |6|rim 1 1335 245 258 7.7
7|e s s 1 13.35 351 070 22 |7 i}:ﬁ )ﬂ ¥ (383 1 12.13 616 1016 31 |7]|ww i gieamn 1 13.35 245% 040 1.7
8|5 1 1335 245 258 22 |8lesampreaim| 1 12.13 616 450 31 |8[|wferen 1 13.35 245% 034 17
9 |5 2 1271 354 091 44 |9ol|pmm 1 12.13 388 173 31
o BEAERT RUEE | 12.13 616 1016 22 [10f# rspcamiEsin 1 12.13 38 070 31

D

Hoi bl L o R 6 38.14 14.76*-  0.45* 133 How 2t L g 5t F] 2 24.27 12.87*-  0.25* 6.3 Hoig 2t X R 5 F) 0 0.00 0.00 0.00 0.0
18] 71 G ) 1 12.13 388 070 22
2lrssmeretin] 1 6.36 300 386 22
1lars s nem 1 6.36 197 089 22
14]53 5 5 1 6.36 150 109 22

Wosr 1450 R kFRE Y L v fic 35157304 § 28,2424 & 27,4884 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt




K24 2 E/ K R - v
AR S I I S
% ®104# (2015# )
: = 7 B = B
5 * & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» 2 RO L B A » = R OF) U e oA » 2 R OH AT oA

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

5 R 5 89 32130  17455%+  129% 00.0 3 e 57 39705 23893 126 000 3 A 7] 32 23981 11452 133 000

R 69 24900  14279%+  136* 775 . 51 35525  217.39%+  148% 895 e 25 18735 9926 134 781
i 2ssqemn | 19 6859 3332 132 213 |il|f# - iieqerm | 13 9055 4394 120 228 |1|fw - tigoen 6 449 2810 135 188
2 |seqesep 23 g 14 5054 2778 114 157 |2|swqeenomig 9 6269 3644 105 158 |2[wqernap 5 3747 2029 129 156
3lwy imqenrg | 10 3610 1916 126 112 | 3]r s 6 4179 3132 129 105 |3frpsrss 4 2998 1786 187 125
a4l pa g 4 2098 1786 187 45 |4l|wn . iggoars 6 4179 2646 135 105 |4|ww . igforra 4 2998 1123 114 125
5| 7 2527 1943 146 79 |5|ewm 5 3483 1951 266 88 |5|iensis 1 7.49 515 2146 31
6 | 6 2166 1034 201 67 |6|sum 4 2186 1944 160 70 |6|rem 1 7.49 515 312 31
et 4 1444 1062 156 45 |7]ia 2 1393 1571 149 35 |7]|i s 1 7.49 515 065 31

FEFE AN R ey
] M4 1 7.49 211 090 11 |8|mafesmgn 2 1393 928 577 35 |8|eginsrgs 1 7.49 211 157 31
] E 2 7.22 811 112 22 |ofuw 2 1393 786 481 35 |9 fg ;*" FarsAmEsl 7.49 211 090 31
10|/ 2 ot e 2 7.22 458 357 22 |wofrsampreaan| 2 1393 741 679 35 |10]eses 1 7.49 211 089 31

gustagprn | 20 7220 3176 110 225 R AL g 6 4179  2154% 056 105 f6 A g7 7 5246 1526 128 219
11|+ 2 7.22 394 276 22 11| 1 6.97 454 133 18 |ul|eezz<pon 1 7.49 177 151 31
12|z gmpen e a2 7.22 361 574 22 |12fregen s 1 6.97 312 169 18
13| ot 6 i e 2 7.22 237 163 22 [13|ne i g ape 1 6.97 312 116 18
14| 2 2 e 2 7.22 226 132 22
15] 2 i a;]w% 1 3.61 2.38 14.28 1.1

Mot L Rke BAREY A vfie 27,7004 9 4214,3564 4 4413,344 % -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FHR KR L AR FIIO FLATAL P AN E B R A o




5 0 B X F O KR OE & = R 7

% F104-# (2015# )
z 7 B - B
g &R = 45 R Latd B &K = Ly RE 3 S K R = 249 HREC s B
» = R 7 Ao B A S FAr Bt = R % AR oA
i (ICD-10%~ #f) A 5= = g % | (ICD-10%4 #7) [ 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %
1 R F 75 242.27 133.14 0.94 .00.0 HEF R 7 F 47 292.03 172.97 091 .00.0 Eh R 7 F 28 188.37 95.08 098 .00.0
Fisera e wem weas 1es sss | [emarn | % v 15784 105 915 | [~<se~m | 25 1es1s  sses 118 93
1 Pprfessp 24 19 61.38 35.92 133 25.3 Lpprfermp =g % 12 74.56 45.88 1.23 255 1 Pprfessp 24 7 47.09 23.70 151 25.0
2|5s 25 i enn 17 54.91 27.45 101 227 2|fE - tFEperm 12 74.56 40.43 104 255 |2|5# -t aerm 5 33.64 17.98 0.95  17.9
3|5 ~ 2B form B 7 22.61 11.06 0.76 9.3 3| A 5 31.07 20.76 0.95 10.6 K) ER-ELES: 3 3 20.18 14.64 1.23 10.7
LY EXEE LR 3 20.18 14.64 1.23 4.0 N L R CLE L 4 24.85 12.78 0.79 8.5 4% ~ BB 3 20.18 10.39 0.73 10.7
S IREENC = L0k 3 18.64 8.61 147 4.0 5|eg# 3 18.64 12.35 1.06 6.4 57 % 3 20.18 4.69 1.64 10.7
6| 2k 5 16.15 10.95 0.91 6.7 6 |5 SR () 3 18.64 8.61 1.47 6.4 6 |ram 1 6.73 6.89 2.84 3.6
HEER: 3 9.69 6.19 1.02 4.0 7 =% 2 12.43 8.24 0.93 4.3 7|+ 7 R 1 6.73 4.68 2.92 3.6
8 =% 3 9.69 551 0.87 4.0 8 |52 % 1 6.21 4.39 117 2.1 8 | g frd P2 R 1 6.73 3.77 1.28 3.6
9|5 ® 3 9.69 2.95 0.81 4.0 M B 1 6.21 4.39 0.65 2.1 9 |=%#% 1 6.73 1.94 0.76 3.6
10)+ ¥ %% 1 6.73 4.68 2.92 13
feemsirn [ wmss e oss w47 | |reacesenm | 4 2085 1saem 03 85 | [restemarm | 3 2018 eave 040 107
11764 1 3.23 3.15 1.20 13
12) o35 1 3.23 2.28 0.70 1.3
13)5 i 1 3.23 2.28 0.48 13
FIES SRR 1 3.23 1.92 068 13

Hoht LB RE Y Ar e $430,9574 9 4216,094% & 4414,8644 -
2. 452 v 5+ = 5 ( Standardized rate) % 1 2000F W.H.O. & % A v Zd 4 2 A o Tk | L R0 5= FEFX
3. 482 it 5 = 1t ( Standard mortalityratio, SMR) o fhiitsv= l=Fmn = e / W= B XA R B R
4. FTH KR LA FLE A P AR B R 4 v oSt

TR S F 5 TR AR RIS R R ¢ (0=0.05)
+ ¥k (a=0.05)
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- %
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£ i 7 <2 + B2
" P 7 5§ mEC BEF - % - 7= sy mEC BEF - % - 7= Ai§  BEC BE o
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE
i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %
R T 122 35313 16282 116 .00.0 5 dp 7] 85 46479  237.00 124 000 4 R 37 22755 8857 099 .00.0
J BY VR POl B . % sa70  2otea 181+ 847 | |tiserm | s 20095 713 119 892
L[ 2o 23 6657 3120 123 189 |1|wgersmim 19 10389 5589 147 224 |1|w#% . igqeurs | 9 5535 1651 166 243
2|5 tisrwm | 22 6368 2717 098 180 |2|fp-rfeserwm | 17 9296 4263 108 200 |2|fp-zféserm | 5 3075 1448 072 135
3les igpern | 16 4631 1604 120 131 |3|ewmw 11 6015 3343 166 129 |3|wws 4 2460 723 229 108
7Y e 1 3184 1799 163 90 |4|wy.igg=rs | 7 3828 1624 101 82 |4|im 4 2460 634 166 108
5 |5 7 2026 850 153 57 |5|syw 6 3281 2071 167 7.1 |5|repoagn 4 2460 5.18% 065 108
6lsun 6 1737 983 164 49 |6|agiremyn 3 1640 944 339 35 |6|wgienemyn 3 1845 634 290 81
4 XSSP 6 1737 812 313 49 |7|eww 3 1640 890 105 35 |7[sip 2 1230 751 302 54
8lv & 6  17.37 550 120 49 |8[wsipcEmina 3 1640 595 101 35 |8|ipsuw 1 6.15 595 034 27
] ERETE STV 3 1640 595 101 25 |9ofia 2 1094 456 078 24 |9|eww 1 6.15 178 283 27
10]4 5 3 8.68 451 110 25 |aof HCSEFHOUE 5.47 388 828 12
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